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Q 1 TO 5 ( 1 SCORE EACH) 

1. ക ോൺവെക്സ് ദർപ്പണം Convex mirror 

2.  ിക ോെോട്ട് അെർ kwh 

3. ആെർധനം Magnification  

4. പ്ര ോശി  സോപ്രത Optical density 

5. 100W 

Q 6 TO 10 (2 MARK EACH) 

6. A) Inductor,  b) Inductors are used for reducing current in 

AC circuits without any loss of electrical energy. When 

resistors are used, electrical energy is wasted in the form 

of heat.   

വെദയുകതോർജ്ജം നഷ്ടവപ്പടോവത എസി സർ യൂട്ടു ളിൽ 

 റന്റ്  ുറയ്്കകുന്നതിന് ഇൻഡ ് ടറു ൾ ഉരകയ്കോഗികുന്നു. 

വറസിസ്റ്ററു ൾ ഉരകയ്കോഗികുകപോൾ, വെദയുകതോർജ്ജം 

തോരത്തിന്വറ രൂരത്തിൽ രോഴോ ുന്നു 

7. N =(360/ θ )-1  =360/60-1 = 5   

8. a & d 

9. The 3 pin plug is specially designed to operate class III electrical 

appliances such as refrigerators, microwave ovens, and other 

metal body appliances. All of these appliances need to be 

earthed or grounded to eliminate the risk of electrocution caused 

by an electricity leakage passed to the metal body     3 രിൻ പ്ലഗ,് 

റപ്രിജകററ്ററു ൾ, വൈകപ് ോകെെ് ഓെനു ൾ, ൈറ്റ് വൈറ്റൽ 

ക ോഡിയ്കുള്ള  െീട്ടുര രണങ്ങൾ തുടങ്ങിയ്ക ക്ലോസ് III 

ഇ  ്പ്ടികൽ ഉര രണങ്ങൾ പ്രെർത്തിപ്പികുന്നതിന് 

പ്രകതയ ം രൂര ൽപ്പന വെയ്തിട്ടുള്ളതോണ്. വൈറ്റൽ 

ക ോഡിയ്കിക ക്  ടന്നുകരോ ുന്ന വെദയുതി കെോർച്ച 

ൈൂ ൈുണ്ടോ ുന്ന വെദയുതോഘോത സോധയത ഇല്ലോതോകോൻ ഈ 

ഉര രണങ്ങവളല്ലോം 3 രിൻ പ്ലഗ്ഗിവ  െ ിയ്ക എർത്ത് രിൻ 

ൈുകേന പ്ഗൗണ്ട് അവല്ലങ്കിൽ ഭൂൈിയ്കുൈോയ്കി  ന്ധിപ്പികുന്നു . 

10. a - C , b – C 
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Q 11 TO 15 ( 3 MARK EACH) 

11.42 

b.. When a ray of light travels from one medium to another it 

bends from the normal and as the angle of incidence in one 

medium increases, the angle of refraction in the second medium 

also increases and at a certain angle, the angle of refraction 

becomes 900, this angle of incidence is called critical angle (θc). 

പ്ര ോശ രശ്മി ഒരു ൈോധയൈത്തിൽ നിന്്ന 

ൈവറ്റോരുൈോധയൈത്തിക കു വെരിഞ്ഞു   ടകുകപോൾ 

അരെർത്തനം നടകു യ്കും അരെർത്തന ക ോൺ 900 ഡിപ്ഗി 

ആ ുകപോൾ ആ സൈയ്കത്തുള്ള രതന ക ോണിവന പ് ിട്ടികൽ 

ക ോൺ എന്ന് െിളികുന്നു . 

c. figure C 

12. B to A 

b. Fleming’s Right- hand  rule 
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 13.       u= -8cm  

         ho = 6cm 

         v= -16cm 

         m= -(v/u) = -(-8/-16) =-2 

                  hi / ho = -(v/u)   

                  hi  = -(v/u) x  ho 

                                  = -2 x 6 = -12cm. 

14.a) Mutual induction 

 

      b)           Vs = Ns 

                      Vp    Np     Vp = VsxNp  250 x 1500  = 50V 

                                                        Ns         7500 

       c). Vp x Ip = Vs x Is 

            Ip = Vs Is           

                       Vp 

P=VI   

I=P/V 

 = 100/250=0.4A                           Ip = Vs Is      = 250 X 0.4     

                                                                     Vp                50 

                                                                                 = 2A 
15. a) Medium 1, If the angle of refraction decreases then the optical density increases. 

അപവർത്തന ക ോൺ   ുറയു യോണെങ്കിൽ, പ്പ ോശി   സോപ്രത വർദ്ധിക്കുന്നു. 

       b) Medium 1. 

 

Q 16 TO 20 ( 4 MARK EACH) 

 

 

16.Power station , Substation &  Distribution. പവർ കേഷൻ, സബ ്കേഷൻ & ഡിസ്പ്രിബയൂഷൻ. 

        b) Electricity loss in conductor due to the resistance of wire in the form of heat. ചോല   

 മ്പിയുണര പ്പതിക ോധം  ോ െം ചോല ത്തിൽ തോപത്തിനണ്റ  ൂപത്തിൽ  വവദ്യുതി 

നഷ്ടം സംഭവിക്കുന്നു. 

        c)The power loss can be managed by increasing the voltage and also decreasing the current. 

കവോൾകേജ് വർദ്ധിപ്പിക്കുന്നതിലൂണരയും  റനറ്്  ുറയ്ക്കുന്നതിലൂണരയും പവർ നഷ്ടം 

നിയപ്രിക്കോൻ  ഴിയും. 

17. 

        Total Power of CFL = 5 x 20W =100W, 

        Total Power of Fan =4 x 60W =240W, 

        Energy consumed by CFL = 100 x 4  

                                                             1000 

       Energy consumed by Fan = 240 x 5 

                                                             1000 
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                                                  =1.2 u   

       Total Energy = 0.4+1.2 =1.6 unit 

18.a. 

(1)Never use a damaged extension cord 

 2)Before changing a lightbulb, switch off the power . 

(3)wear rubber footwear or insulated glove while operating electrical device 

 

  b. 

 (1)Raise the temperature of the body by massaging 

(2)Give Artificial Respiration 

 (3)Start first aid  

(1) ക രോയ എ ്േൻഷൻ ക ോർഡ ്ഒ ിക്കലും ഉപകയോഗിക്ക ുത ്

 2)വലറ്റ് ബൾബ് മോറ്റുന്നതിന് മുമ്പ,് പവർ ഓഫ് ണചയ്യു . 

(3)ഇല ്പ്രിക്കൽ ഉപ  െം പ്പവർത്തിപ്പിക്കുകമ്പോൾ റബ്ബർ പോദ് ക്ഷ ക ോ 

ഇൻസുകലറ്റഡ് ഗ്ലൗകസോ ധ ിക്കു  

 

b. 

 (1) മസോജ് ണചയ്തുണ ോണ്്ട ശ ീ ത്തിനണ്റ തോപനില ഉയർത്തു  

(2)  ൃപ്തിമ ശവസനം നൽ ു  

 (3) പ്പഥമ ശുപ്ശൂഷ ആ ംഭിക്കു . 

 

19.Wall – irregular reflection  

     Mirror – Regular reflection  

b) Objects near the walls are visible due to reflection of light from wall 

c)Light are reflected in different directions so they cannot form an image. 

ഭിത്തി - വിസ ിത പ്പതിപതനം  

ദ്ർപ്പെം- പ് മ പ്പതിപതനം  

b) ഭിത്തിയിൽ നിന്നുള്ള പ്പ ോശത്തിന്ണറ പ്പതിഫലനം  ോ െം ഭിത്തി ൾക്്ക 

സമീപമുള്ള വസ്തുക്കൾ ദ്ൃശയമോെ്. 

c)പ്പ ോശം വയതയസ്ത ദ്ിശ  ിൽ പ്പതിഫലിക്കുന്നു, അതിനോൽ അവയ്ക്്ക ഒ ു 

പ്പതിബിംബം   ൂപണപ്പരുത്തോൻ  ഴിയില്ല. 

 

20. a)600 

b)Snell’s Law 

c) sin(i)/sin(r) 

d)The refractive index of any medium with respect to another medium which is not 

vacuum is called relative refractive index. 

 d)ശൂനയത  അല്ലോത്ത ഒ ു  മോധയമത്തിന്ണറ അപവർത്തനോങ്കണത്ത മണറ്റോ ു 

മോധയമത്തിന്ണറ അപവർത്തനങ്കവുമോയി തോ തമയണപ്പരുത്തുന്നതോെ് 

ആകപക്ഷി  അപവർത്തനോങ്കം. 

 


